Refer to the graph given below and identify the graph that represents the corresponding function. Justify your answer. 
y = 2x 
y = log2x 


Plot the graphs of the following functions. Scan the graphs and post them to the Facilitator along with your response. 

1. f(x)=6x 

2. f(x)=3x - 2 

3. f(x)=(1/2)x 

4. f(x)= log2x
Plot the graphs of the following functions. Scan the graphs and post them to the Facilitator along with your response. 

1. f(x)=6x 

2. f(x)=3x - 2  1/3 2 x
3. f(x)=(1/2)x 

4. f(x)= log2x = 8 = 3
Graph the exponential inequality:
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Hint: Write the equation of the boundary.

The equation of the boundary is
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Hint: Make a table of values for the boundary.

Using the equation of the boundary to find y for x = -3, -2, -1, 0, 1, 2, and 3. Make a table of values.
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Computing y for different values of x
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